Use the following to answer questions 60-64:

Answer the next question(s) on the basis of the following data. All figures are in billions of dollars.
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	60.	Refer to the above data. GDP is: 
	A)	$390.    B)  $417.    C)  $422.    D)  $492.    E)  $512. 

	61.	Refer to the above data. NDP is: 
	A)	$370.    B)  $402.    C)  $392.    D)  $467. 

	62.	Refer to the above data. NI is: 
	A)	$364.    B)  $372.    C)  $447.    D)  $362. 

Type: T   Topic: 4   E: 120   MA: 120   
	63.	Refer to the above data. PI is: 
	A)	$294.    B)  $346.    C)  $408.    D)  $437. 

Type: T   Topic: 4   E: 121   MA: 121   
	64.	Refer to the above data. DI is: 
	A)	$284.    B)  $329.    C)  $254.    D)  $402. 


Use the following to answer questions 65-68:

Answer the next question(s) on the basis of the following data. All figures are in billions of dollars.
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	65.	The gross domestic product for the above economy is: 
	A)	$100.    B)  $95.    C)  $110.    D)  $107. 



	66.	Refer to the above data. Consumption of fixed capital is: 
	A)	$5.    B)  $10.    C)  $20.    D)  $30. 


	67.	Refer to the above data. Disposable income is: 
	A)	$83.    B)  $73.    C)  $75.    D)  $77. 

	68.	Refer to the above data.  From this information we can conclude that the sum of indirect business taxes and net foreign factor income is.
	A)	$5 billion.   B)  zero.   C)  $1 billion.   D)  $15 billion.



Use the following to answer questions 73-77:

Answer the next question(s) on the basis of the following data. All figures are in billions of dollars.
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	73.	Refer to the above data. The gross domestic product is: 
	A)	$326.    B)  $282.    C)  $307.    D)  $300. 


	74.	Refer to the above data. The net domestic product is: 
	A)	$233.    B)  $255.    C)  $230.    D)  $348. 


	75.	Refer to the above data. The national income is: 
	A)	$223.    B)  $249.    C)  $208.    D)  $346. 


	76.	Refer to the above data. Personal income is: 
	A)	$184.    B)  $221.    C)  $149.    D)  $228. 


	77.	The economy characterized by the above data is 
	A)	experiencing inflation because disposable income exceeds personal income. 
	B)	experiencing declining production capacity because net investment is negative.
	C)	in a depression because personal income exceeds disposable income. 
	D)	experiencing expanding production capacity because net private domestic investment is positive. 




60. B
61. C
62. D
63. A
64. C
65. C
66. A
67. C
68. A
73. C
74. B
75. A
76. D
77. B
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